Do Now: From Exercise Set A #s 9, 25, and 27

9. (tan 8)(csc O) is equivalent to
(1) sinf® (2) cos& (8) csc® (@) sech

M’ ‘ L = L =
0sd sl ey G4

2(1+cosA) . g
25. TPE. + con A s 1® equivalent to
M1 2 .- .
@ ) Bin A @ cos A
2(13h)

Hhinko F q q
X - 2
27. sin' B — cos® B is equivalent to (x”-lija Y X 'y’)
(1) 1 +cos®’B (8) sin’ B + cos?’ B
(2) 1-cos’B @) sin®B —cos? B

Sln)B 4 M*BX Sin*8 - s B)
(1 )(5m*B - tos>8)



Classwork: From Exercise Set B

In 1-27, prove that the given statement is an identity

for all values of the angle for which the expressions are
defined.
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6. sin®x(1 + tan®x) = tan? x
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Homework 03-14

Exercise Set A

In 1-29, for all values of the angle for which the
expressions are defined, choose an equivalent expression.
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